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Lie detectors are based on measuring changes in the nervous system. The assumption is
that lying will be reflected in physiological changes that are not under the voluntary control of
the individual. When a person is telling the truth, the galvanic skin response scores have a
distribution that is normal with a mean of 51.6 and a'standard deviation of 9. (Assume ALL
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What is the probability that a sample of 10 people will have an average score less than(49.5? (6

nez 10 X=4aS

q

ﬂ~

2.85

¥ _(’S- -S\L)
Sx 2.85
."1'1] —2 .26

S
-2.\

a‘t

X -

EA
z=







Sumoe\s for

Sq.«u-\?\\f\ 3 _D\s}n'\hm
Wx = § (A
6- . S é;h? - ?( \"'?j
F\ ™
Sa.mé"- SQMQ\C
eansS Qﬂ’?“ho“s
Qvorvkene, Qo:\e%ow;a\




An SRS of 240 first-year college students were asked whether they applied for admission to any
other college. In fact, it is known that 76% of all first-year students applied to colleges besides

the one they are attending. What is_the™ obability that the poll will give a sample proportion
bet 73% and 77%?
N = 240
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1) If mean of a population that is normally distributed is 20 and the
standard deviation of the population is 4. Sketch the sampling distribytion of

sample means for a sample size ofE?l..(4 pts) W = 2.0-
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Scatter Plots and Least-Squares Lines

You should be able to:

1. Create a Scatter Plot on STAT CRUNCH

2. Find the equation for the Linear Regression Line
3. Understand the strengths of linear correlations
4

Find and understand the meaning of the coefficient of
correlation “r-value”

5. Make a prediction for an output value (y-hat) given a specific
x-value.




Vocabulary

« Scatterplot: Is a graph showing two sets
of quantitative data on a coordinate plane.

« Explanatory Variable (x): is the variable
that is trying to explain changesiny.

« Response Variable (y): i1s the value
obtained at a specific x-value.




Correlation

The main result of a correlation is called the
correlation coefficient (or "r"). It ranges from
-1.0to +1.0. The closerris to +1 or -1, the
more closely the two variables are related.

If ris close to O, it means there is no linear
relationship between the variables.

If r is positive, it means that as one variable
gets larger the other gets larger.

If r is negative it means that as one gets
larger, the other gets smaller
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Correlation and Prediction

perfect neqgative
correlation
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no reliable perfect positive
correlation correlation
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If ris equal to 1 or -1 then every data

point would be on the same line.
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Other examples of correlation coefficients

Correlation r =0, ettt S P
Correlationr=-0.7 90 Correlation r=-0.99




\ Equation of I:iRL
OF = a+bx
a—

‘

y - mtercept
» b = slope =

e y = predicted y-value

» This equation will be found by using
Stat Crunch




Least-Squares Regression Line (LSRL)

(line that best fits the data)
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